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Bell work 
Simplify: 
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   Is the conjecture √𝑥2 = 𝑥 true for all numbers x ? 

 

 

 

Use the same exponent rules as before, but this time with rational exponents. 

Rule:     𝒂𝒎 ∙ 𝒂𝒏 = 𝒂𝒎+𝒏  
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Rule:     
𝒂𝒎

𝒂𝒏
= 𝒂𝒎−𝒏, 𝒂 ≠ 𝟎  

32

3
1
2

= 𝑥
1
2

𝑥2
= 

Rule:    (
𝒂

𝒃
)

𝒎
=

𝒂𝒎

𝒃𝒎
  

(
27

64
)

1
3

= ( 
2

3
 )

1
2

= 

 

Product Property of Radicals:   √𝒂 ∙ 𝒃
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Simplify:   
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Simplify:  
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√5 ∙ √5
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√18 ∙ √10
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True or False? 

8
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Write each expression in radical form. 

(4𝑚)
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Write each expression in exponential form. 

√6𝑛       6√𝑛 


